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Ohio State Practice Math Test | Grade 5 | Questions

Questions
NAME: et (O =YL R
Date: e 1Y o 0] (=T RRR

Standard: 5.NF.6
DOK 2

1 The fifth graders are having a candy sale as a fundraiser. Homeroom 1 sold 8i

5
cases of candy. Homeroom 2 sold %as many cases of candy as Homeroom 1.
How many cases of candy did Homeroom 2 sell?

Answer:

Standard: 5.NBT.2
DOK 1

2 Whatis 5.62 x 1067

Answer:
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Standard: 5.NBT.4
DOK 1

3 Select two numbers that round to be 7.2 when rounded to the nearest tenth.

7.11
7.02
7.17
7.22
7.09

Standard: 5.NF.7
DOK 2

4 Jill plans on running 5 miles at the local track. One time around the track is

1 of a mile. How many times around the track will Jill have to run?

4

Answer:
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Standard: 5.NBT.2
DOK 3

5  What number will be in the tens place after 7,562 is divided by 1007?

Answer:

Standard: 5.NF.7.a
DOK 1

6 Find the value of 7 = i.

7

Answer:
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Standard: 5.NBT.6
DOK 1

7 What is the value of the expression 368 - 16 ?

Answer:

Standard: 5.G.1
DOK 1

8 Point B is located 7 units to the right of the origin and 4 units up on the
coordinate plane. What is the ordered pair of point B?

Answer:
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Standard: 5.NBT.7.b
DOK 2

9 The local competitive cheerleading gym raised $5675 for nationals. The mini
team raised WIO of the total amount. How much did the mini team raise?

Answer:

Standard: 5.G.4
DOK 2

10 Select the statement that is always true.

A rhombus is always a square.

A square is always a parallelogram.

A parallelogram is always a square.

A rectangle is always a rhombus.
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Standard: 5.NF.5.b
DOK 3

11 Inthe table below, check off the values of @ that makes each of the

inequalities true.

[

345 x % > 345

567 X % > 567

3
269 x o > 269

-

Standard: 5.NBT.3
DOK 2

12 Select the expression that is equal to 62.053

5 ., _3
100 ° 1000

5 3
60+2+1—0+m

5 3
60+2+m+ 1000

5 3
60+20+1—0+ m

60 + 20 +
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Standard: 5.NBT.6
DOK 2

13 Select the division problem that can be used based on the area model below.

80 3
50 4000 150
3 240 9

4000 + 53
4000 = 83
4240 + 83
4399 =83
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Standard: 5.0A.1
DOK 3

14 Simon evaluates the expression below. Which step shows Simon’s first
mistake?

2 x(20+5+6)-3

Step 1:% x(4+6)-3

Step 2: ix 10-3

5
e Step 3: %x 7
e Step 4: %
e Step 5: % = 4%
4 N
& Answer
N\ y
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Standard: 5.NBT.7.c
DOK 2

15 Xavier’s backyard is in the shape of a rectangle and has an area of 572.4yd>
If the width of the backyard is 26.5 yards, select the value of the length of the
backyard.

21 yards
21.6 yards
20.6 yards
20 yards

Standard: 5.MD.5.a
DOK 1

16 A rectangular box has the given dimensions. What is the volume in cubic
feet?

20 ft

8 ft

14 ft

Answer:
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Standard: 5.NBT.7

DOK 3

17 Nikkiis making a STEM project with wire. She has 4 pieces of wire that are

each 1.15 feet long. She has 7 pieces of thicker wire that are each 1.75 feet

long. If she uses all 11 pieces of wire for her project, what is the total length

of wire in feet?

4 N
& Answer
N\ J
Standard: 5.NF.2
DOK 3
18 Syria makes a 1 pound snack mix for her hike using dried bananas, M & M’s
and peanuts. The list below shows how many pounds of M & M’s and
peanuts she uses.
e = pound of M & M’s
e — pound of peanuts
How much dried bananas, in pounds, does Syria use?
4 N
& Answer
- J
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Standard: 5.MD.4
DOK 2

19 Donny created the figure below. What is the volume of his creation?

= 1 square unit

7 7 7
7 T T 7T 7
A A A A A A A
T T 77 /|
T 7 %
//
//
/|
////
)/
//
//
)/
Answer:

Standard: 5.0A.1
DOK 3

20 Select the missing operation in the problem below.

24:(372) =4
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Standard: 5.0A.3 & 5.G.3
DOK 3

21 The graph below shows the time in hours it takes Travis to make bracelets.
Use the graph below to answer the questions.

A. How many bracelets can he make in 2 hours?
Answer:

B. How many hours do you think it will take him to make 8 bracelets?

Answer:
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Standard: 5.MD.2
DOK 3

22 The line plot below shows the lengths of 16 pieces of yarn Joanna cut to use
for an art project. What is the total length of yarn she uses?

O

O

O O
O O

2L 22 3L 32 4
3 3 3 3

O
O O

A

>+ OO0

»+O000

Length of yarn in feet

Answer:

Standard: 5.0A.2
DOK 2

23 Noreen has 3 lop bunnies. She feeds each of them 2 bowls of lettuce 4 times

a day. Write an expression that can be used to show the amount of bowls of
lettuce she gives her bunnies in a day.

Answer:
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Standard: 5.NF.4.b
DOK 1

24 Whatis the area of the rectangle below?

L )
7 3 inches

3.
12 3 inches

Answer:

Standard: 5.NF.7.c
DOK 2

25 Dinais building a ramp. She cuts an 8-foot-long piece of wood into sections
that are each % foot long. How many sections of wood will Dina have when

she is finished cutting?

Answer:
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Standard: 5.NF.1
DOK 2

26 An equation is shown below. What is the missing number?

o1 2 _ 19
6 12 12
Answer:

Standard: 5.NF.6, 5.NF.7.c
DOK 3

27 Royal’s three friends, Denny, Mike, and Kevin, want to borrow paint from him.

Royal only has a 2% gallons of paint to share. He gives Denny 1% gallons

and shares the remaining paint equally between Mike and Kevin. How much
paint does Mike and Kevin get each?

/

& Answer
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Standard: 5.0A.1
DOK 3

28 A student uses order of operations to solve the equation below. Identify the
mistake the student made and correct it.

[3x(4+17)-5]+[14-(6-2)]=?

[3x(21)-5]+[14-4]=

[3x16] +[10] =

48 + 10 =58

4 )
& Answer

Standard: 5.NF.4.b
DOK 3

29 A small portion of London’s table is covered with square tiles that are % foot
by%foot. The diagram below shows the part of the table covered by these
tiles. Find the area.

KEY

2
g ft

2
£ ft

.
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Standard: 5.NBT.6

DOK 3

30 Millersville Elementary School has 624 students. Out of the 624 students
117 of them walk home and the rest take the bus. If a bus holds 48 students,
how many buses does Millersville Elementary School need?

-~

& Answer
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Rationales
Item KEY Rationale
3 4 3_44 3 _132_-3
1 65cases 85x4—5x4——20 6= cases
Item KEY Rationale
2 5,620,000 5.6 x 106 =5.6 x 1,000,000 = 5,600,000
.
Item KEY Rationale
3 7.17 7.11 roundsto 7.1
7.22 7.02 roundsto 7.0
7.17 roundsto 7.2
7.22 roundsto 7.2
7.09 roundsto 7.1
g
4
Item KEY Rationale
. o1 4 _
4 20 times B+—=65x—=5x4=20
4 1
/
Item KEY Rationale
5 5 7562 + 100 =75.62
L The digit 5 is in the tens place.
-
Item KEY Rationale
1 5.7 _ _
6 49 7T7—7x1—7x7—49
.
4
Item KEY Rationale
7 23 368 - 16 =23
.
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Item

(7, 4)

KEY

Rationale
The originis at (0, 0) where the coordinate is O
and the coordinate is O.

Moving 7 units right means to add 7 to the
coordinate of 0.

Moving 4 units up means to add 4 to the
coordinate of O

This gives the coordinate (7, 4).
You can also count this out on the coordinate
plane.

Item

$56.75

KEY

Rationale

Multiply the total amount raised by ﬁ)

L 75 _ 56.75

5675 x 100° 100

$56.75

10

Item

KEY

A square is always a
parallelogram.

Rationale

Squares are special parallelograms so will always

possess the properties of a parallelogram.
J

11

Item

345 x
only

567 x
and 3

269 x
only

KEY

>345 - 4

<bb/7 — 2

>269 — 2

~
Rationale

For the inequality, 345 x %> 345, the fraction that
is multiplied to 345 has to be greater than 1 in
order for the product to be greater than 345.
Substituting 4 for a will make the fraction greater
than 1.

For the inequality, 567 x % < 567, the fraction
that is multiplied to 567 has to be less than 1 in
order for the product to be less than 567.
Substituting 2 and 3 for a will make the fraction
less than 1.

For the inequality, 269 x % > 269, the fraction that
is multiplied to 269 has to be greater than 1 in
order for the product to be greater than 269.
Substituting 2 for a will make the fraction greater
than 1.

J
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Item

12

60 + 2+ —+

KEY

5 3

100 1000

Rationale

62.053 is 60 plus 2 plus 5 hundredths plus 3
thousandths.

62.053=60+2 + —>= +—>—

100 1000

Item

13

KEY

4399 = 83

Rationale

From the area model, 83 x 53 = 4399.

So, the division problem that makes sense from
that model is 4399 + 83.

The quotient of that problem is equal to 53.

Item

14

Step 3

KEY

Rationale

Do the division first in the parenthesis:
%x(20+5+6)-3

Then add the numbers in the parenthesis:
% x(4+6)-3

Then multiply:
3 x10-3

5

Then subtract:
6-3

3 is the correct answer.
Simon subtracted 3 from 10 in step 3 instead of
multiplying by %

Item

15

KEY

21.6 yards

Rationale

Area = length x width
572.4 = 26.5 x width
572.4 =+ 26.5 = width
5724 +-265=216
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\
ltem KEY Rationale
16 2240 ft3 V=Ixwxh
V=8x14x20
V' =2240
J
)\
ltem KEY Rationale
17 16.85 feet 4x1.15=46
7x1.75=12.25
46+ 12.25=16.85 )
N
ltem KEY Rationale
13 3,1_15_7 _22
18 T pounds of = + T + 3E =38
- 22_35 22 _13
dried bananas 1- 35538 38" 38
J
)\
ltem KEY Rationale
19 240 units3 Volume = length x width x height
There are 10 cubes for the length, 6 cubes for the
width and 4 cubes for the height.
Volume=10x6 x4
Volume = 240 units3
4
N\
ltem KEY Rationale
20 X Multiplication is the operation that is missing.
24 +-(3 x 2)=4
24 -6=4
/
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~
ltem KEY Rationale
21 A 4 bracelets The ordered pairs represent the hours it takes to
make the bracelet and the amount of bracelets.
So, the point (2, 4) represents 2 hours to make 4
bracelets.
21B 4 hours If the point that represents 8 bracelets were to be
graphed, it would be the point (4, 8). The pattern
between the x coordinate and the y coordinate is
that x is half of y.
Also, the points should line up.
The point (4, 8) would line up with the other
points graphed.
S /
ltem KEY Rationale
1 2 1 2
22 43 feet 2(3)+4 (2§) + 2(2?) +4(3) + 2(3?) + 1(3?)
28 16 20, 11
6+3+3+12+3+3
§+ 18
25+18=43
\- /
~
ltem KEY Rationale
23 3x2x4 There are 3 bunnies that get 2 bowls of lettuce so
thatis 3 x 2 and then that happens 4 times a day
so3x2x4.
~
ltem KEY Rationale
3. 2 _ 193 72
24 96 3 inches Area =12 X 7 3
_63 23
Area = 3 X 3
_96 3
Area =96 c
\- /
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ltem KEY Rationale
. .1 5 _ _
25 40 pieces 87€—8XT—8x5—40
-
ltem KEY Rationale
1 7 19
26 7 TRV
3.2 _19
6 12 12
26 2 _19
12 12 12
267 _19
12 12 12
\-
ltem KEY Rationale
3 3 1_.2_3
27 7 2 7 1 Vi 1 -
3.,-3,1_3
I R R
3
7 gallon each.
o
[
ltem KEY Rationale
28 The student made [3x(4+17)-5]+[14-(6-2)]="7
the mistake of [3x(21)-5]+[14-4]=
subtracting 5 from
21 instead of After this step the student made the error of
multiplying 21 by 3. subtracting 5 from 21 when the student should
have multiplied 21 by 3 first.
[63-5]+[10] =
[63-5]+[10] =
58 + 10 =68
o

For more resources and intervention support go to thirdspacelearning.com
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Item KEY Rationale

29 1 % feet? Area = length x width

Find the area of one square and then multiply it

by 12.
12x(3x3):12xi:4—8:1§feet2
5 5 25 25 25
o J
4 N\
ltem KEY Rationale
30 11 buses 624 - 117 =507, 507 students take the bus.
.48 = 10 27
507 +48 =10 718
This needs to be rounded up to 11 buses.

. J
'z )\
Breakdown of Assessment

Operations Number and Number and Measurement Geometry
and Algebraic | Operations in Operations - and Data (MD) (G)
thinking (OA) Base Ten Fractions (NF) This assessment:
(NBT) 10%
This This This This assessment: | This assessment:
assessment: assessment: assessment: 9% 9%
16% 31% 34%
\- 4
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Do you have a group of students who
need a boost in math?

Each student could receive personalized lessons every week from our
specialist one-on-one math tutors.

\/ Differentiated instruction for each student
\/ Aligned to your state's standards

\/ Scaffolded learning to close gaps

“We just had our first session and it went great! The kids really liked
it and felt like they were learning! One even said he finally felt like
math was making sense.”

R\ Michelle Craig, Instructional Coach,

Y Sherwood Forest Elementary, Washington

Speak to us

] thirdspacelearning.com/us/
e +1929-298-4593

A hello@thirdspacelearning.com
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